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Complete the stated operation (addition, subtraction) to simplify the expression.
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Identify the zeros, the vertical asymptotes, and the horizontal asymptotes of the function.
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If f(x) = 2x? and g(x) = 3x> and h(x) = 4x, find the following
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Which equation best represents 3\%‘ graph?
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30 Simplify the following rational expression, state any excluded values.
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. Which of the following functions has a zero, a vertical asymptote and a horizontal asymp-

tote?
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P

for €§§&z§im§z and $0.05 per minute. The rel ‘m{}@ f cost to minutes can

o A pre-paid cellular phone charges $25
be defined by the function C{X} 0.05x + X‘\f‘mi is the inverse of the function? vy L ox+ a5 Jox -900=Y
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mé« 2. Which of the following is the inverse relation to the set of ordered pairs {10, 8), (=7, 93, (0, 6), (8, -12)}?
{(5,-10),(9,-7), (6,0), (12, 8)} ¢ {(10,-5),(7,-9),(0,-6), (-8, 12)}
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Which of the following is the inverse to the function ?ﬁu tiply by 8, then subtract 1077 { =10
Add 10, then divide by & ¢. Divide by 8, then add 10 -
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Subtract 10, then multiply by 8 d. Multiply by 10, then subtract 8 y4f0 = gX
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12. Which of the following images depicts the graph of a function as a solid curve and tiw graph
of its inverse function as a dashed curve?
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